[1]

2 2 B
M1 P(m)=2 (m — %) —% P,(m) = —4 (m _44_61) L 84a+16\
2 2 _oq_
Py(m) = 2 (m - 52)" 4+ =2
Fliﬁ 2 {ZA\;E‘ZTTa\ a = 3

x JERE TN
y BERRE b F M,

725 TN D AR oD 3 3,

[ —Ef I D720

[II]
3 n3+2n2+3n 3
a1 P = - ] 2 = - 1 3 =
F”ﬁ n 4 (n-}-%)(n-}-l)(n-f%) F“ﬁ a 4 Fﬂ ﬁ e
(1]
PD 2 2 5 7
i1 E=3 2 §l<x<l i3 ;lXVl — X
A/ —714 2 _ 2
ﬁmLfSI<J_®k% %M*E—LﬁLi V21 DL E Vpgr—=—
9(3-12) 9
(V]
1 {f’(t)}3+f’(t) {r'®©P+1
W1 = — t 2 t——— t
3 7 2
ma YLOFPHL e, V8 gy L
) 2 e
ﬂmwifﬂ%ﬂm@&bf\tﬁ%—ﬂ@2®&%meﬁ§a—»g&@é: ZHAT X

Fs, Bnonde I THHATT RV,

VO I G, M4 ETREYETRS THHETTARY,

E¥HBEM J7xIAb



